
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Multipliziere Dezimalzahlen mit negativen
Zehnerpotenzen

9914, 3 × 0.1 = ________ 2875, 6 × 0.1 = ________

4797, 2 × 0.1 = ________ 8123, 6 × 0.01 = ________

5616, 2 × 0.0001 = ________ 5428, 3 × 0.0001 = ________

4784, 4 × 0.01 = ________ 7313 × 0.1 = ________

7612 × 0.001 = ________ 6571, 6 × 0.01 = ________

6367, 3 × 0.0001 = ________ 5840, 4 × 0.01 = ________

8499, 3 × 0.001 = ________ 3005, 4 × 0.1 = ________

3719, 9 × 0.001 = ________ 1719, 1 × 0.01 = ________

5975, 8 × 0.01 = ________ 1502, 4 × 0.1 = ________

1848, 9 × 0.1 = ________ 4037, 4 × 0.01 = ________
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Multipliziere Dezimalzahlen mit negativen
Zehnerpotenzen

9914, 3 × 0.1 = 991.43 2875, 6 × 0.1 = 287.56

4797, 2 × 0.1 = 479.72 8123, 6 × 0.01 = 81.236

5616, 2 × 0.0001 = 0.56162 5428, 3 × 0.0001 = 0.54283

4784, 4 × 0.01 = 47.844 7313 × 0.1 = 731.3

7612 × 0.001 = 7.612 6571, 6 × 0.01 = 65.716

6367, 3 × 0.0001 = 0.63673 5840, 4 × 0.01 = 58.404

8499, 3 × 0.001 = 8.4993 3005, 4 × 0.1 = 300.54

3719, 9 × 0.001 = 3.7199 1719, 1 × 0.01 = 17.191

5975, 8 × 0.01 = 59.758 1502, 4 × 0.1 = 150.24

1848, 9 × 0.1 = 184.89 4037, 4 × 0.01 = 40.374
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